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S F(Class)d gt

7| 1.7044 0 1.7055 04348

A =% 1.7044 0 1.7056 0.4444

7| 2.3056 0 2.3066 0419

Cl =% 2.305 0 2.3062 0.3568

7| 2.1556 0 2.1567 0.3914
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7| 2.0253 0 2.0264 0432
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7| 1.6539 0 1.655 0.4395

cp =% 1.6539 0 1.6551 0.4503

7| 0.8319 0 0.833 04291

: =5 0.832 0 0.8331 0.3935

7| 1.1493 0 1.1504 04384

> =5 1.1493 0 1.1505 0.4479

ZF1) £E4=-H|2H|&(Total Expense Ratio)0|2t 22E$ 5 HEOM BEE= ‘242 '7|EtH
TSR Lr HIEEM sie 287|2t T FAXIL 2EHS & B -H&FS LIEFHL|CE
F2) 0joj- 57 === H|SO0|2t OO} - B+ E wAtLt HETN(E=-H|E XAUH 7|F)2E e HEEM sig 287|2t 5 FAXI £
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W OjofFEARR 3 2HE

IHOH2] M E)

S|zt
1,696,215 61,444 1,744,661 79,039 48.83 193.73

F)oid 28712 T =D FA7IAS SAUS A g 2E7| T 2R/ FAQ E7tA2z LE HE

16H03& 27 ~16'H06EH26 16H06E 27 ~16'H09EH26
70.74 74.44 48.83
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